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QUESTION 1

A network administrator wants to use Aruba AirWave to audit an AOS-Switch configuration. What rs one requirement? 

A. The switch defines the AirWave IP address in its zero touch provisioning (ZTP) profile. 

B. The switch specifies the AirWave IP address for the RADIUS server used for Telnet and SSH authentication. 

C. The switch is authorized in AirWave, which has the correct credentials to log in as a CLI manager. 

D. The switch is set to Manage Read-Write mode in AirWave but is not set to Monitor Only + Firmware Updates. 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

The network administrator wants to reduce failover time If a switch link m VIAN 100 goes down. What should the
administrator do? 

A. Configure echo mode BFD on VLAN 100 on all OSPF routing devices on VLAN 100. 

B. Lower the dead timer on the BDR of VLAN 100. 

C. Lower the hello timer only on the BDR of VLAN 100. 

D. Configure graceful restart on all of the OSPF routing devices on VLAN 100. 

Correct Answer: A 
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QUESTION 3

An administrator mistakenly configures the wrong VLAN setting on a managed controller\\'s interface. This causes the
controller to lose management access to the Mobility Master (MM). 

Which mechanism will then attempt to restore the previous working configuration on the managed controller? 

A. disaster recovery 

B. auto-rollback 

C. restore config 

D. bulk configuration 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 
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The network administrator needs to set up BGP between the two company switches. Switch-1 and Switch

2. The BGP connection does not establish. Based on the exhibits, what does the administrator need to do to fix the
issue? 

A. Enable the multihop option for the neighbor on each of the switches. 

B. Enter the network command for 10.0.0.0/24 in the router BGP mode on each switch. 

C. Enable BGP on the interfaces that the switches use to reach each other. 

D. Set the update source for the neighbor to the local loopback interface on each switch. 

Correct Answer: D 
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QUESTION 5

Refer to the exhibit. 

Which statements accurately describe the status of the Onboarded devices in the configuration tor the network settings
shown? (Select two.) 

A. They will connect to Employee_Secure SSID after provisioning. 

B. They will connect to Employee_Secure SSID for provisioning their devices. 

C. They will use WPA2-PSK with AES when connecting to the SSID. 

D. They will connect to secure_emp SSID after provisioning. 

E. They will perform 802.1X authentication when connecting to the SSID. 

Correct Answer: DE 
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